
12

34

5
6
7
8
9
01
11
21
31
41
51
61
71
81
91
02
12
22
32
42
52
62
72
82
92
03
13
23
33
43
53
63
73
83

A B C D E F G H I J K L M N O Q R S T

rebmuN tnuoccA
 lautcA 3102

tnuomA
 dednemA 4102

tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &

0824 00.0$ 00.0$ 00.0$ 00.0$

0344 49.220,550,1$ 00.000,058$ 34.968,749$ 00.000,009$ %6

501_0064 97.743,73$ 00.000,04$ 07.733,22$ 00.000,03$ %52-

37.073,290,1$ 00.000,098$ 31.702,079$ 00.000,039$ %4

0374 00.002$ 00.0$ 00.001$ 00.0$

0574 00.005,01$ 00.0$ 00.0$ 00.0$

0594 53.592,5$ 00.0$ 00.620,3$ 00.0$

501_0594 00.000,1$ 00.0$ 00.0$ 00.0$

53.599,61$ 00.0$ 00.621,3$ 00.0$ +++

80.663,901,1$ 00.000,098$ 31.333,379$ 00.000,039$ %4

0344 00.0$ 00.0$ 00.0$ 00.0$

00.0$ 00.0$ 00.0$ 00.0$ +++

00.0$ 00.0$ 00.0$ 00.0$ +++

5344 00.688,11$ 00.000,03$ 00.005,03$ 00.000,03$ %0

501_0064 48.409,853$ 00.000,072$ 59.680,053$ 00.000,013$ %51

48.097,073$ 00.000,003$ 59.685,083$ 00.000,043$ %31

48.097,073$ 00.000,003$ 59.685,083$ 00.000,043$ %31

001_5784 00.0$ 00.0$ 00.0$ 00.0$

511_5784 00.0$ 00.336,291$ 57.627,95$ 00.0$ %001-

531_5784 00.667,45$ 00.0$ 14.061,61$ 00.0$

00.667,45$ 00.336,291$ 61.788,57$ 00.0$ %001-

 latipaC etatS  tnarG 00.664,17$ 00.0$

seuneveR latnemnrevogretnI :latoT 00.032,941$ )00.336,291$(

seuneveR latnemnrevogretnI

tceriD gnitarepO laredeF  tnarG 00.0$ 00.0$

gnitarepO ytefaS cilbuP  tnarG 00.467,77$ )00.336,291$(

noitcetorP eriF :latoT noisiviD 00.000,003$ 00.000,04$
440 stnarG

ytefaS cilbuP secivreS roF seeF 00.000,072$ 00.000,04$

secivreS rof segrahC :latoT 00.000,003$ 00.000,04$

240 noitcetorP eriF

secivreS rof segrahC

egrahcruS tnemecalpeR mralA 00.000,03$ 00.0$

secivreS rof segrahC :latoT 00.0$ 00.0$

secivreS lacideM ycnegremE :latoT noisiviD 00.0$ 00.0$

140 secivreS lacideM ycnegremE

secivreS rof segrahC

seeF ecnalubmA 00.0$ 00.0$

euneveR rehtO :latoT 00.0$ 00.0$

nimdA :latoT noisiviD 00.827,828$ 00.000,04$

snoitanoD 00.0$ 00.0$

detcirtseR snoitanoD 00.0$ 00.0$

euneveR rehtO

ytreporP tessA-noN fo elaS 00.0$ 00.0$

tessA nO ssoL/niaG 00.0$ 00.0$

ytefaS cilbuP secivreS roF seeF 00.0$ )00.000,01$(

secivreS rof segrahC :latoT 00.827,828$ 00.000,04$

secivreS rof segrahC

segrahC emitrevO 00.0$ 00.0$

seeF ecnalubmA 00.827,828$ 00.000,05$

euneveR

tnemtrapeD 51 eriF

noisiviD 000 nimdA

TV ,notgnilruB fo ytiC

tropeR teehskroW tegduB

noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
dnuF 101 dnuF lareneG
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41/11/6
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dednemmoceR
 51 YF ffiD %
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 dednemA 3102
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93
04
14
24
34
44
54
64
74
84
94
05
15
25
35
45
55
65
75
85
95
06
16
26
36
46
56
66
76
86
96
07
17
27
37
47
57
67

5344 00.0$ 00.0$ 00.0$ 00.0$

00.0$ 00.0$ 00.0$ 00.0$ +++

00.667,45$ 00.336,291$ 61.788,57$ 00.0$ %001-
29.229,435,1$ 00.336,283,1$ 42.708,924,1$ 00.000,072,1$ %001-

29.229,435,1$ 00.336,283,1$ 42.708,924,1$ 00.000,072,1$ %8-

001_0005 88.716,811$ 00.450,153$ 01.996,904$ 00.927,534$ %42

0015 11.168,2$ 00.004,8$ 93.601,5$ 00.004,8$ %0

501_0025 90.444,24$ 00.000,04$ 27.169,23$ 00.000,03$ %52-

511_0025 )00.02$( 00.643,4$ 00.026,1$ 00.643,1$ %96-

021_0025 00.0$ 00.0$ 00.0$ 00.0$

521_0025 00.0$ 00.0$ 00.0$ 00.0$

031_0025 00.043$ 00.528,2$ 00.044,2$ 00.528,2$ %0

001_0045 00.0$ 00.763,01$ 49.041,7$ 00.580,49$ %808

501_0045 00.0$ 00.0$ 00.0$ 00.0$

011_0045 00.0$ 00.087,811$ 31.675,411$ 00.181,674,1$ %341,1

511_0045 00.0$ 00.831,4$ 44.740,4$ 00.318,3$ %8-

021_0045 00.0$ 00.0$ 07.938,4$ 00.136,842$

521_0045 00.0$ 00.0$ 00.0$ 00.436,330,1$

031_0045 00.0$ 00.825,3$ 42.117,4$ 00.356,85$ %365,1

531_0045 00.0$ 00.0$ 04.739,1$ 00.755,21$

041_0045 00.0$ 00.0$ 00.0$ 00.0$

80.342,461$ 00.834,345$ 60.080,985$ 00.458,504,3$ %725

0306 88.369,13$ 00.0$ 00.0$ 00.0$

1126 00.001,1$ 00.035,3$ 69.917,2$ 00.025,3$ %0

88.360,33$ 00.035,3$ 69.917,2$ 00.025,3$ %0

0006 01.329,1$ 00.003,5$ 47.346,2$ 00.003,4$ %91-

5006 00.006$ 00.006$ 99.08$ 00.006$ %0

0106 67.290,2$ 00.0$ 00.0$ 00.0$

5106 00.0$ 00.0$ 00.0$ 00.0$

0206 00.0$ 00.000,1$ 64.19$ 00.000,1$ %0

5206 79.656,3$ 00.003,5$ 98.206,4$ 00.003,7$ %83sgnihsinruF 00.001,5$ 00.000,2$

erawtfoS retupmoC 00.0$ 00.0$

tnempiuqE eciffO 00.000,1$ 00.0$

egatsoP 00.006$ 00.0$

tnempiuqE retupmoC 00.003,2$ 00.0$

tnempiuqE latipaC :latoT 00.001,53$ )00.01$(

gnitarepO lareneG

seilppuS eciffO 00.000,3$ )00.000,1$(

tnempiuqE latipaC

skcurT dna selciheV 00.000,43$ 00.0$

tnempiuqE dezilaicepS 00.001,1$ )00.01$(

pmoC/kciS/caV deurccA stifeneB eeyolpmE 00.0$ 00.0$

secivreS lanosreP :latoT 00.784,821$ 00.614,268,2$

ecnarusnI latneD stifeneB eeyolpmE 00.0$ 00.521,55$

ecnarusnI efiL stifeneB eeyolpmE 00.0$ 00.755,21$

noitasnepmoC srekroW stifeneB eeyolpmE 00.0$ 00.136,842$

ecnarusnI htlaeH stifeneB eeyolpmE 00.0$ 00.436,330,1$

A tnemeriteR stifeneB eeyolpmE 00.0$ 00.104,753,1$

B tnemeriteR stifeneB eeyolpmE 00.0$ )00.523$(

ACIF stifeneB eeyolpmE 00.0$ 00.817,38$

ecnarusnI tnemyolpmenU stifeneB eeyolpmE 00.0$ 00.0$

stnemesrubmieR elbaxaT ecivreS lanosreP rehtO 00.0$ 00.0$

elbaxaT ecnawollA ecivreS lanosreP rehtO 00.0$ 00.0$

noitasnepmoC rehtO ecivreS lanosreP rehtO 00.006$ )00.000,3$(

laitnereffiD tfihS ecivreS lanosreP rehtO 00.0$ 00.0$

emitrevO 00.004,3$ 00.0$

ytuD laicepS ecivreS lanosreP rehtO 00.0$ )00.000,01$(

noisiviD 000 nimdA

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.784,421$ 00.576,48$

slatoT euneveR 00.859,772,1$ )00.336,211$(
sesnepxE

tnemtrapeD 51 eriF

stnarG :latoT noisiviD 00.032,941$ )00.336,291$(
eriF :latoT tnemtrapeD 00.859,772,1$ )00.336,211$(

secivreS rof segrahC

egrahcruS tnemecalpeR mralA 00.0$ 00.0$

secivreS rof segrahC :latoT 00.0$ 00.0$
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77
87
97
08
18
28
38
48
58
68
78
88
98
09
19
29
39
49
59
69
79
89
99
001
101
201
301
401
501
601
701
801
901
011
111
211
311
411
511

0026 69.273,2$ 00.005$ 56.341,7$ 00.008,3$ %066

2026 07.591,2$ 00.008,4$ 38.851,3$ 00.008,3$ %12-

3026 29.996,1$ 00.257,2$ 66.003,2$ 00.057,3$ %63

4026 00.0$ 00.006$ 00.0$ 00.0$ %001-

6026 68.533,9$ 00.006,9$ 12.645,9$ 00.006,9$ %0

8026 84.637,2$ 00.092,6$ 53.185,5$ 00.092,6$ %0

0126 83.795$ 00.078$ 22.701$ 00.078$ %0

2126 00.0$ 00.0$ 00.0$ 00.0$

001_2126 00.0$ 00.0$ 00.0$ 00.0$

011_2126 00.0$ 00.0$ 00.0$ 00.0$

001_4126 63.217,5$ 00.000,6$ 85.128,5$ 00.000,9$ %05

5126 53.381$ 00.001,1$ 61.509$ 00.006$ %54-

6726 00.0$ 00.002,1$ 00.0$ 00.000,11$ %718

001_0036 81.919$ 00.000,2$ 42.057$ 00.000,2$ %0

501_0036 22.920,81$ 00.000,61$ 88.461,41$ 00.000,04$ %051

021_0036 00.0$ 00.0$ 00.0$ 00.0$

071_0036 91.536,32$ 00.233,33$ 00.923,82$ 00.233,33$ %0

0536 00.0$ 00.000,1$ 00.0$ 00.000,1$ %0

001_0046 63.645,44$ 00.000,44$ 93.920,73$ 00.000,64$ %5

501_0046 08.115,44$ 00.005,45$ 64.840,44$ 00.005,94$ %9-

511_0046 41.906,8$ 00.051,6$ 37.901,8$ 00.005,9$ %45

711_0046 63.456$ 00.166$ 21.657$ 00.007$ %6

021_0046 69.771,3$ 00.005,3$ 96.450,3$ 00.007,3$ %6

521_0046 00.0$ 00.0$ 00.0$ 00.0$

721_0046 90.305,9$ 00.001,01$ 35.260,8$ 00.005,9$ %6-

711_0056 00.0$ 00.0$ 00.0$ 00.0$

811_0056 04.323,1$ 00.002,2$ 00.558$ 00.002,2$ %0

121_0056 00.0$ 00.0$ 00.0$ 00.0$

241_0056 00.0$ 00.018$ 00.066$ 00.018$ %0

0066 45.262,8$ 00.031,9$ 00.882,6$ 00.031,9$ %0

5066 00.0$ 00.076,4$ 13.643$ 00.076,4$ %0

5166 00.0$ 00.0$ 00.0$ 00.0$

001_0076 00.0$ 00.0$ 00.0$ 00.0$

501_0076 90.954,12$ 00.000,22$ 71.302,02$ 00.000,91$ %41-

701_0076 97.429$ 00.000,2$ 89.381,1$ 00.000,5$ %051

011_0076 00.0$ 00.0$ 00.0$ 00.0$

001_0086 00.0$ 00.0$ 00.0$ 00.0$

301_0086 00.061,45$ 00.000,05$ 43.597,74$ 00.000,06$ %02

501_0086 00.0$ 00.005,2$ 00.0$ 00.0$ %001-

secivreS noitcepsnI  secivreS rof seeF 00.770,26$ 00.000,01$

segrahC ataD TB  secivreS rof seeF 00.000,1$ )00.005,2$(

esnepxE levarT gniniarT & levarT 00.0$ 00.0$

enohpeleT  secivreS rof seeF 00.0$ 00.0$

gniniarT laicepS gniniarT & levarT 00.000,32$ )00.000,3$(

slairetaM gniniarT gniniarT & levarT 00.000,1$ 00.000,3$

sriapeR ytreporP 00.0$ 00.0$

noitacudE gniniarT & levarT 00.0$ 00.0$

stcartnoC ecnanetniaM 00.031,9$ 00.0$

ecnanetniaM oidaR 00.0$ 00.0$

lavomeR wonS lautcartnoC secivreS tnatlusnoC dna lanoisseforP 00.0$ 00.0$

noitomorP dna gnitekraM secivreS tnatlusnoC dna lanoisseforP 00.0$ 00.0$

srerutceL dna srotcurtsnI secivreS tnatlusnoC dna lanoisseforP 00.0$ 00.0$

secivreS lautcartnoC secivreS tnatlusnoC dna lanoisseforP 00.002,2$ 00.0$

snoitacinummoceleT seitilitU 00.0$ 00.0$

snoitacinummoC ralulleC seitilitU 00.008,9$ )00.006$(

retawmrotS seitilitU 00.166$ 00.93$

lavomeR hsibbuR seitilitU 00.005,3$ 00.002$

saG seitilitU 00.005,05$ )00.000,5$(

retawetsaW/retaW seitilitU 00.051,8$ 00.053,3$

gnisitrevdA & ecitoN lageL 00.000,1$ 00.0$

yticirtcelE seitilitU 00.008,15$ 00.000,2$

seriT ecnanetniaM & riapeR 00.0$ 00.0$

sgnidliuB ecnanetniaM & riapeR 00.288,32$ 00.0$

straP  tnempiuqE ecnanetniaM & riapeR 00.000,2$ 00.0$

seilppuS tniaM elciheV ecnanetniaM & riapeR 00.000,91$ 00.000,42$

gnirednuaL mrofinU 00.006$ )00.005$(

slairetaM&seilppuS dleiF 00.0$ 00.008,9$

leseiD leuF 00.0$ 00.0$

smrofinU sserD smrofinU dnA gnihtolC 00.000,6$ 00.000,3$

leuF 00.0$ 00.0$

dedaelnU leuF 00.0$ 00.0$

seilppuS laicepS 00.091,3$ 00.0$

tnempiuqE dna slooT llamS 00.008$ 00.0$

skooB 00.0$ )00.006$(

seilppuS naidotsuC 00.006,9$ 00.0$

tgM repaP/gniypoC/gnitnirP 00.827,2$ )00.000,1$(

snoitpircsbuS/seuD 00.007,1$ 00.899$

seilppuS dnA seeF lacideM 00.528$ 00.003,3$
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611
711
811
911
021
121
221
321
421
521
621
721
821
921
031
131
231
331
431
531
631
731
831
931
041
141
241
341
441
541
641
741
841
941
051
151
251
351

011_0086 00.0$ 00.0$ 00.0$ 00.0$

041_0086 00.02$ 00.002$ 26.441$ 00.0$ %001-

551_0086 00.0$ 00.0$ 00.0$ 00.0$

5007 59.056,1$ 00.000,1$ 69.385$ 00.000,1$ %0

511_0027 67.118,73$ 00.000,34$ 83.182,91$ 00.000,34$ %0

001_0327 00.0$ 00.0$ 00.0$ 00.0$

501_0327 00.0$ 00.0$ 00.0$ 00.0$

701_0327 00.0$ 00.0$ 00.0$ 00.0$

3037 00.0$ 00.0$ 74.55$ 00.0$

76.503,213$ 00.566,453$ 10.686,382$ 00.259,104$ %31

36.216,905$ 00.336,109$ 30.684,578$ 00.623,118,3$ %323

001_0005 46.163,556,3$ 00.199,506,3$ 06.284,004,3$ 00.059,027,3$ %3

0015 30.258,48$ 00.000,66$ 42.440,101$ 00.000,58$ %92

501_0025 06.721,392$ 00.619,836$ 62.751,034$ 00.000,083$ %14-

511_0025 42.564,461$ 00.000,032$ 43.977,07$ 00.000,931$ %04-

521_0025 80.371$ 00.0$ 00.0$ 00.0$

031_0025 86.481$ 00.0$ 85.880,1$ 00.0$

501_0035 84.207,5$ 00.0$ 00.0$ 00.0$

001_0045 00.0$ 00.765,37$ 91.387,75$ 00.0$ %001-

501_0045 00.0$ 00.0$ 00.0$ 00.0$

011_0045 00.0$ 00.444,261,1$ 42.271,311,1$ 00.0$ %001-

021_0045 00.0$ 00.615,202$ 06.562,951$ 00.0$ %001-

521_0045 00.0$ 00.0$ 00.0$ 00.0$

031_0045 00.0$ 00.075,54$ 52.158,84$ 00.0$ %001-

531_0045 00.0$ 00.0$ 89.991,41$ 00.0$

041_0045 00.0$ 00.0$ 00.0$ 00.0$

57.668,302,4$ 00.400,520,6$ 82.428,693,5$ 00.059,423,4$ %82-

1126 00.0$ 00.0$ 00.0$ 00.0$

001_1126 38.867,4$ 00.005,8$ 72.324,7$ 00.000,5$ %14-

501_1126 19.745,41$ 00.056,41$ 89.038,8$ 00.008,22$ %65

011_1126 08.929,51$ 00.000,7$ 18.304,5$ 00.005,91$ %971

511_1126 52.741,43$ 00.000,53$ 67.117,22$ 00.000,14$ %71

021_1126 00.0$ 00.0$ 00.0$ 00.0$

031_1126 00.454$ 00.018$ 05.576$ 00.018$ %0

97.748,96$ 00.069,56$ 23.540,54$ 00.011,98$ %53

srehsiugnitxE tnempiuqE dezilaicepS 00.018$ 00.0$

tnempiuqE latipaC :latoT 00.670,27$ 00.051,32$

raeG tuonruT tnempiuqE dezilaicepS 00.000,53$ 00.000,6$

tnempiuqE snoitacinummoC tnempiuqE dezilaicepS 00.0$ 00.0$

skcaP riA tnempiuqE dezilaicepS 00.056,41$ 00.051,8$

tnempiuqE ytefaS tnempiuqE dezilaicepS 00.616,61$ 00.005,21$

tnempiuqE latipaC

tnempiuqE dezilaicepS 00.0$ 00.0$

esoH eriF tnempiuqE dezilaicepS 00.000,5$ )00.005,3$(

pmoC/kciS/caV deurccA stifeneB eeyolpmE 00.0$ 00.0$

secivreS lanosreP :latoT 00.353,491,4$ )00.450,007,1$(

ecnarusnI latneD stifeneB eeyolpmE 00.0$ )00.075,54$(

ecnarusnI efiL stifeneB eeyolpmE 00.0$ 00.0$

noitasnepmoC srekroW stifeneB eeyolpmE 00.0$ )00.615,202$(

ecnarusnI htlaeH stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI tnemyolpmenU stifeneB eeyolpmE 00.0$ 00.0$

A tnemeriteR stifeneB eeyolpmE 00.0$ )00.444,261,1$(

eriF A tnemyolpmE tsoP snoitubirtnoC reyolpmE 00.0$ 00.0$

ACIF stifeneB eeyolpmE 00.0$ )00.765,37$(

stnemesrubmieR elbaxaT ecivreS lanosreP rehtO 00.000,1$ 00.0$

elbaxaT ecnawollA ecivreS lanosreP rehtO 00.0$ 00.0$

ytuD laicepS ecivreS lanosreP rehtO 00.088,232$ )00.619,852$(

noitasnepmoC rehtO ecivreS lanosreP rehtO 00.577,322$ )00.000,19$(

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.849,486,3$ 00.959,411$

emitrevO 00.057,15$ 00.000,91$

nimdA :latoT noisiviD 00.044,515$ 00.396,909,2$
040 noisserppuS eriF

seeF knaB dna yrotalugeR 00.0$ 00.0$

gnitarepO lareneG :latoT 00.358,153$ 00.782,74$

lareneG ecnarusnI 00.0$ 00.0$

ytreporP ecnarusnI 00.0$ 00.0$

tnempiuqE esaeL/tneR 00.000,34$ 00.0$

elciheV ecnarusnI 00.0$ 00.0$

stnevE laicepS  secivreS rof seeF 00.0$ 00.0$

rorrE rof dnufeR 00.007,1$ 00.0$

latneR tnempiuqE  secivreS rof seeF 00.0$ 00.0$

esnepxE ytilatipsoH  secivreS rof seeF 00.010,1$ )00.002$(
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41 YF &noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF

451
551
651
751
851
951
061
161
261
361
461
561
661
761
861
961
071
171
271
371
471
571
671
771
871
971
081
181
281
381
481
581
681
781
881
981
091
191

0106 96.388$ 00.0$ 00.0$ 00.0$

3026 57.331,4$ 00.002,4$ 35.071,4$ 00.002,4$ %0

8026 00.0$ 00.0$ 00.0$ 00.0$

0126 08.714,4$ 00.000,5$ 04.069,2$ 00.000,5$ %0

2126 84.171,88$ 00.488,58$ 11.785,38$ 00.0$ %001-

001_2126 36.149,1$ 00.654,2$ 82.292,2$ 00.654,2$ %0

011_2126 00.0$ 00.0$ 00.0$ 00.0$

001_4126 00.0$ 00.0$ 00.0$ 00.0$

011_4126 44.669,61$ 00.034,81$ 30.908,21$ 00.034,42$ %33

5126 00.0$ 00.0$ 00.0$ 00.0$

701_0076 00.0$ 00.0$ 00.0$ 00.0$

97.415,611$ 00.079,511$ 53.918,501$ 00.680,63$ %96-

5008 09.851,851$ 00.000,051$ 20.899,441$ 00.0$ %001-

09.851,851$ 00.000,051$ 20.899,441$ 00.0$ %001-

32.883,845,4$ 00.439,653,6$ 79.686,296,5$ 00.641,054,4$ %03-

001_0005 92.123,175$ 00.678,295$ 17.418,955$ 00.187,076$ %31

0015 27.433,91$ 00.000,03$ 93.413,02$ 00.000,03$ %0

501_0025 13.084,94$ 00.057,15$ 48.567,67$ 00.057,15$ %0

511_0025 96.631,53$ 00.172,64$ 07.236,91$ 00.000,33$ %92-

521_0025 38.351$ 00.006,1$ 00.0$ 00.0$ %001-

031_0025 62.325$ 00.0$ 96.290,1$ 00.002,2$

501_0035 27.679$ 00.0$ 00.0$ 00.0$

001_0045 00.0$ 00.287,9$ 45.369,9$ 00.0$ %001-

501_0045 00.0$ 00.0$ 00.0$ 00.0$

011_0045 00.0$ 00.021,791$ 59.377,581$ 00.0$ %001-

021_0045 00.0$ 00.0$ 03.995,8$ 00.0$

521_0045 00.0$ 00.0$ 00.0$ 00.0$

031_0045 00.0$ 00.028,8$ 40.088,6$ 00.0$ %001-

531_0045 00.0$ 00.0$ 74.223,2$ 00.0$

041_0045 00.0$ 00.0$ 00.0$ 00.0$

28.629,676$ 00.912,839$ 36.951,198$ 00.137,787$ %61-

0026 00.0$ 00.0$ 64.927,1$ 00.0$

001_0026 78.455,93$ 00.000,25$ 57.507,94$ 00.000,06$ %51

gnitarepO lareneG

seilppuS dnA seeF lacideM 00.0$ 00.0$

lacideM lareneG seilppuS dnA seeF lacideM 00.002,04$ 00.000,8$

pmoC/kciS/caV deurccA stifeneB eeyolpmE 00.0$ 00.0$

secivreS lanosreP :latoT 00.540,496$ )00.884,051$(

ecnarusnI latneD stifeneB eeyolpmE 00.0$ )00.028,8$(

ecnarusnI efiL stifeneB eeyolpmE 00.0$ 00.0$

noitasnepmoC srekroW stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI htlaeH stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI tnemyolpmenU stifeneB eeyolpmE 00.0$ 00.0$

A tnemeriteR stifeneB eeyolpmE 00.0$ )00.021,791$(

eriF A tnemyolpmE tsoP snoitubirtnoC reyolpmE 00.0$ 00.0$

ACIF stifeneB eeyolpmE 00.0$ )00.287,9$(

stnemesrubmieR elbaxaT ecivreS lanosreP rehtO 00.008$ )00.006,1$(

elbaxaT ecnawollA ecivreS lanosreP rehtO 00.0$ 00.002,2$

ytuD laicepS ecivreS lanosreP rehtO 00.057,15$ 00.0$

noitasnepmoC rehtO ecivreS lanosreP rehtO 00.464,63$ )00.172,31$(

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.130,585$ 00.509,77$

emitrevO 00.000,02$ 00.0$

noisserppuS eriF :latoT noisiviD 00.955,225,4$ )00.887,609,1$(
140 secivreS lacideM ycnegremE

dnufretnI

sriapeR tnempiuqE/elciheV 00.007,741$ )00.000,051$(

dnufretnI :latoT 00.007,741$ )00.000,051$(

slairetaM gniniarT gniniarT & levarT 00.0$ 00.0$

gnitarepO lareneG :latoT 00.034,801$ )00.488,97$(

ralugeR smrofinU dnA gnihtolC 00.098,71$ 00.000,6$

gnirednuaL mrofinU 00.0$ 00.0$

leseiD leuF 00.0$ 00.0$

smrofinU sserD smrofinU dnA gnihtolC 00.0$ 00.0$

leuF 00.000,87$ )00.488,58$(

dedaelnU leuF 00.654,2$ 00.0$

seilppuS laicepS 00.0$ 00.0$

tnempiuqE dna slooT llamS 00.000,5$ 00.0$

gnitarepO lareneG

tnempiuqE retupmoC 00.488$ 00.0$

snoitpircsbuS/seuD 00.002,4$ 00.0$
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rebmuN tnuoccA
 lautcA 3102

tnuomA
 dednemA 4102

tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
291
391
491
591
691
791
891
991
002
102
202
302
402
502
602
702
802
902
012
112
212
312
412
512
612
712
812
912
022
122
222
322
422
522
622
722
822
922

011_0026 01.207,7$ 00.000,9$ 80.290,9$ 00.000,01$ %11

3026 00.021$ 00.041$ 00.0$ 00.041$ %0

8026 00.0$ 00.0$ 00.0$ 00.0$

001_2126 93.3$ 00.0$ 00.0$ 00.0$

5126 00.0$ 00.0$ 00.0$ 00.0$

001_0036 00.0$ 00.0$ 00.0$ 00.0$

501_0036 00.0$ 00.0$ 00.0$ 00.0$

63.083,74$ 00.041,16$ 92.725,06$ 00.041,07$ %51

0008 21.230,251$ 00.482,45$ 00.466,85$ 00.000,06$ %11

21.230,251$ 00.482,45$ 00.466,85$ 00.000,06$ %11

03.933,678$ 00.346,350,1$ 29.053,010,1$ 00.178,719$ %31-

001_0005 57.035,702$ 00.0$ 00.0$ 00.0$

0015 37.372,4$ 00.0$ 00.0$ 00.0$

501_0025 27.106$ 00.0$ 00.0$ 00.0$

511_0025 28.131,3$ 00.0$ 00.0$ 00.0$

031_0025 00.000,3$ 00.0$ 00.0$ 00.0$

501_0035 37.461$ 00.0$ 00.0$ 00.0$

001_0045 00.0$ 00.0$ 00.0$ 00.0$

501_0045 00.0$ 00.0$ 00.0$ 00.0$

011_0045 00.0$ 00.0$ 00.0$ 00.0$

021_0045 00.0$ 00.0$ 00.0$ 00.0$

521_0045 00.0$ 00.0$ 00.0$ 00.0$

031_0045 00.0$ 00.0$ 00.0$ 00.0$

531_0045 00.0$ 00.0$ 00.0$ 00.0$

041_0045 00.0$ 00.0$ 00.0$ 00.0$

57.207,812$ 00.0$ 00.0$ 00.0$ +++

0006 61.174$ 00.0$ 00.0$ 00.0$

2026 48.246$ 00.0$ 00.0$ 00.0$

3026 05.506$ 00.0$ 00.0$ 00.0$

8026 00.0$ 00.0$ 00.0$ 00.0$

0126 00.0$ 00.0$ 00.0$ 00.0$

001_2126 00.0$ 00.0$ 00.0$ 00.0$

4126 11.125$ 00.0$ 00.0$ 00.0$

5126 00.0$ 00.0$ 00.0$ 00.0$gnirednuaL mrofinU 00.0$ 00.0$

dedaelnU leuF 00.0$ 00.0$

smrofinU dnA gnihtolC 00.045$ 00.0$

seilppuS laicepS 00.001$ 00.0$

tnempiuqE dna slooT llamS 00.0$ 00.0$

tgM repaP/gniypoC/gnitnirP 00.007$ 00.0$

snoitpircsbuS/seuD 00.016$ 00.0$

secivreS lanosreP :latoT 00.869,722$ 00.0$

gnitarepO lareneG

seilppuS eciffO 00.094$ 00.0$

ecnarusnI efiL stifeneB eeyolpmE 00.0$ 00.0$

pmoC/kciS/caV deurccA stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI htlaeH stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI latneD stifeneB eeyolpmE 00.0$ 00.0$

A tnemeriteR stifeneB eeyolpmE 00.0$ 00.0$

noitasnepmoC srekroW stifeneB eeyolpmE 00.0$ 00.0$

ACIF stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI tnemyolpmenU stifeneB eeyolpmE 00.0$ 00.0$

elbaxaT ecnawollA ecivreS lanosreP rehtO 00.004,2$ 00.0$

eriF A tnemyolpmE tsoP snoitubirtnoC reyolpmE 00.0$ 00.0$

ytuD laicepS ecivreS lanosreP rehtO 00.0$ 00.0$

noitasnepmoC rehtO ecivreS lanosreP rehtO 00.644,3$ 00.0$

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.221,712$ 00.0$

emitrevO 00.000,5$ 00.0$

secivreS lacideM ycnegremE :latoT noisiviD 00.714,598$ )00.277,531$(
240 noitcetorP eriF

dnufretnI

secivreS gnilliB 00.230,251$ 00.617,5$

dnufretnI :latoT 00.230,251$ 00.617,5$

seilppuS tniaM elciheV ecnanetniaM & riapeR 00.0$ 00.0$

gnitarepO lareneG :latoT 00.043,94$ 00.000,9$

gnirednuaL mrofinU 00.0$ 00.0$

straP  tnempiuqE ecnanetniaM & riapeR 00.0$ 00.0$

seilppuS laicepS 00.0$ 00.0$

dedaelnU leuF 00.0$ 00.0$

negyxO seilppuS dnA seeF lacideM 00.000,9$ 00.000,1$

snoitpircsbuS/seuD 00.041$ 00.0$
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 dednemA 4102
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41/11/6
 sroyaM 5102

dednemmoceR
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 dednemA 3102

tegduB
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41 YF
032
132
232
332
432
532
632
732
832
932
042
142
242
342
442
542
642
742
842
942
052
152
252
352
452
552
652
752
852
952
062
162
262
362
462
562
662
762

071_0036 96.112$ 00.0$ 00.0$ 00.0$

5066 05.491,5$ 00.0$ 00.0$ 00.0$

511_0076 )00.008$( 00.0$ 00.0$ 00.0$

08.648,6$ 00.0$ 00.0$ 00.0$ +++

5008 00.0$ 00.0$ 00.0$ 00.0$

00.0$ 00.0$ 00.0$ 00.0$ +++

55.945,522$ 00.0$ 00.0$ 00.0$ +++

001_0005 95.535,97$ 00.0$ 00.0$ 00.0$

511_0025 00.57$ 00.0$ 00.0$ 00.0$

031_0025 00.0$ 00.0$ 00.0$ 00.0$

001_0045 00.0$ 00.0$ 00.0$ 00.0$

501_0045 00.0$ 00.0$ 00.0$ 00.0$

011_0045 00.0$ 00.0$ 00.0$ 00.0$

021_0045 00.0$ 00.0$ 00.0$ 00.0$

521_0045 00.0$ 00.0$ 00.0$ 00.0$

031_0045 00.0$ 00.0$ 00.0$ 00.0$

531_0045 00.0$ 00.0$ 00.0$ 00.0$

041_0045 00.0$ 00.0$ 00.0$ 00.0$

95.016,97$ 00.0$ 00.0$ 00.0$ +++

3026 00.0$ 00.0$ 00.0$ 00.0$

5126 00.0$ 00.0$ 00.0$ 00.0$

00.0$ 00.0$ 00.0$ 00.0$ +++

95.016,97$ 00.0$ 00.0$ 00.0$ +++

001_0005 00.0$ 00.0$ 00.0$ 00.0$

0015 73.968,4$ 00.725,151$ 31.014,62$ 00.0$ %001-

501_0025 81.728,5$ 00.004,71$ 75.905,12$ 00.0$ %001-

001_0045 00.0$ 00.216,3$ 50.186$ 00.0$ %001-

031_0045 00.0$ 00.002$ 64.843$ 00.0$ %001-

531_0045 00.0$ 00.002$ 78.713$ 00.0$ %001-

55.696,01$ 00.939,271$ 80.762,94$ 00.0$ %001-

0306 14.080,21$ 00.0$ 00.0$ 00.0$

secivreS lanosreP :latoT 00.462,37$ )00.939,271$(

tnempiuqE latipaC

skcurT dna selciheV 00.005,21$ 00.0$

ecnarusnI latneD stifeneB eeyolpmE 00.0$ )00.002$(

ecnarusnI efiL stifeneB eeyolpmE 00.0$ )00.002$(

ytuD laicepS ecivreS lanosreP rehtO 00.000,6$ )00.004,71$(

ACIF stifeneB eeyolpmE 00.005,1$ )00.216,3$(

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.0$ 00.0$

emitrevO 00.467,56$ )00.725,151$(

gniniarT eriF :latoT noisiviD 00.261,28$ 00.0$
440 stnarG

gnirednuaL mrofinU 00.0$ 00.0$

gnitarepO lareneG :latoT 00.259$ 00.0$

secivreS lanosreP :latoT 00.012,18$ 00.0$

gnitarepO lareneG

snoitpircsbuS/seuD 00.259$ 00.0$

ecnarusnI efiL stifeneB eeyolpmE 00.0$ 00.0$

pmoC/kciS/caV deurccA stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI htlaeH stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI latneD stifeneB eeyolpmE 00.0$ 00.0$

A tnemeriteR stifeneB eeyolpmE 00.0$ 00.0$

noitasnepmoC srekroW stifeneB eeyolpmE 00.0$ 00.0$

ACIF stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI tnemyolpmenU stifeneB eeyolpmE 00.0$ 00.0$

noitasnepmoC rehtO ecivreS lanosreP rehtO 00.003$ 00.0$

elbaxaT ecnawollA ecivreS lanosreP rehtO 00.0$ 00.0$

340 gniniarT eriF

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.019,08$ 00.0$

dnufretnI :latoT 00.0$ 00.0$

noitcetorP eriF :latoT noisiviD 00.895,632$ 00.0$

gnitarepO lareneG :latoT 00.036,8$ 00.0$

dnufretnI

sriapeR tnempiuqE/elciheV 00.0$ 00.0$

ecnanetniaM oidaR 00.047,5$ 00.0$

egaeliM gniniarT & levarT 00.0$ 00.0$

sgnidliuB ecnanetniaM & riapeR 00.054$ 00.0$
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rebmuN tnuoccA
 lautcA 3102

tnuomA
 dednemA 4102
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021_1126 00.667,45$ 00.0$ 00.0$ 00.0$

14.648,66$ 00.0$ 00.0$ 00.0$ +++

8026 00.080,4$ 00.0$ 00.0$ 00.0$

011_0076 49.573,2$ 00.005,11$ 00.0$ 00.0$ %001-

511_0076 00.0$ 00.494,3$ 00.0$ 00.0$ %001-

041_0086 00.0$ 00.007,4$ 00.0$ 00.0$ %001-

49.554,6$ 00.496,91$ 00.0$ 00.0$ %001-

09.899,38$ 00.336,291$ 80.762,94$ 00.0$ %001-
02.994,323,6$ 00.348,405,8$ 00.197,726,7$ 00.343,971,9$ %001-

29.229,435,1$ 00.336,283,1$ 42.708,924,1$ 00.000,072,1$ %8-

02.994,323,6$ 00.348,405,8$ 00.197,726,7$ 00.343,971,9$ %8

)82.675,887,4$( )00.012,221,7$( )67.389,791,6$( )00.343,909,7$( %11

29.229,435,1$ 00.336,283,1$ 42.708,924,1$ 00.000,072,1$ %8-

02.994,323,6$ 00.348,405,8$ 00.197,726,7$ 00.343,971,9$ %8

)82.675,887,4$( )00.012,221,7$( )67.389,791,6$( )00.343,909,7$( %11:slatoT dnarG teN )00.844,321,5$( )00.331,787$(

:slatoT dnarG euneveR 00.859,772,1$ )00.336,211$(

:slatoT dnarG esnepxE 00.604,104,6$ 00.005,476$

slatoT esnepxE 00.604,104,6$ 00.005,476$

dnuF lareneG :latoT dnuF )00.844,321,5$( )00.331,787$(

eriF :latoT tnemtrapeD 00.604,104,6$ 00.005,476$

:slatoT euneveR 00.859,772,1$ )00.336,211$(

gnitarepO lareneG :latoT 00.007,8$ )00.496,91$(

stnarG :latoT noisiviD 00.032,941$ )00.336,291$(

egaeliM gniniarT & levarT 00.0$ )00.494,3$(

esnepxE ytilatipsoH  secivreS rof seeF 00.001,2$ )00.007,4$(

gnitarepO lareneG

seilppuS laicepS 00.002,4$ 00.0$

esnepxE levarT gniniarT & levarT 00.004,2$ )00.005,11$(

tnempiuqE snoitacinummoC tnempiuqE dezilaicepS 00.667,45$ 00.0$

tnempiuqE latipaC :latoT 00.662,76$ 00.0$
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